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=2 1,200,000 1,200,000 0
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Al 18,894,090 13,449,170 5,444,920
0l 2 & & ot 44,738,196 42,068,036 2,670,160
=2 30,900,000 29,400,000 1,500,000
J| 1,087,500 1,087,500 0
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Al 10,014,446 9,294,286 720,160
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203 YR E XY 8,450 9,200 AT50
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=2 1,500,000 0 1,500,000
J| 50,000 50,000 0
[ 465,000 15,000 450,000
Al 1,413,300 772,300 641,000
ST Al DFEDI(0I2HAF) 3,428,300 837,300 2,591,000
=2 1,500,000 0 1,500,000
J| 50,000 50,000 0
[ 465,000 15,000 450,000
Al 1,413,300 772,300 641,000
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308 A XISHH SOl A 0 500,000 A500,000
I 2SO AEAE AL Y] 0 500,000 A500,000
O3 A ZHAY IEFALSIY] A= 02 0 500,000 A500,000
309 =2 91,000 0 91,000
01 2A- 2HINNES 91,000 0 91,000
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91,000,0008 * 1Al 91,000 0 91,000
2 CA XM 3,000,000 0 3,000,000
=2 1,500,000 0 1,500,000
[ 450,000 0 450,000
Al 1,050,000 0 1,050,000
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[ 3,000 0 3,000
Al 7,000 0 7,000
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& 7,500 0 7,500
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=) 7,500 0 7,500
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OLESE 2¥ 23 2,000,000& * 204 4,000 2,000 2,000
eI 2l 69,288 0 69,288
S 30X 2gael(eAddl) 69,288 0 69,288
101 @124l 69,288 0 69,288
02 JIEtA 2 == 69,288 0 69,288




C0lcHe &1t

= A

ZHl

[e ] o
g S
A0 § N
Ko h
El
-
3
R0
m
@ o
2 S
§ N
3r
<
=)
X0 x y
) 0 30
- . <
& % H @
r [8 58
= S Wg
C 8BS
- 2 N
= ol
Al —
Iol Hr
oF ~J
! 3l
: =
®l [m)
%0 Ho
. Mo
= O
I+
fir




> A
N = 0l & At & Ml A
AR DANLBEUIS SN SRHED
HE: X0 RPHLH AL
Sl XS 28 HEAY CERED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
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s 1,200,000 1,200,000 0
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Al 6,074,396 2,766,096 3,308,300
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s 1,200,000 1,200,000 0
o] 1,000,000 1,000,000 0
< 840,000 840,000 0
Al 5,934,400 2,626,100 3,308,300
N 28 HLAL 1,189,400 1,011,100 178,300
SYTLST =AY 2 128,400 90, 100 38,300
201 Yer2 bl 112,400 74,100 38,300
EETE 112,400 74,100 38,300
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ZF 60,000,0008 * 14 60,000 30,000 30,000
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cWE2RY BARINAESER
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YsUA SAFY 1,430,000 300,000 1,130,000
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01 A&l 1,430,000 300,000 1,130,000
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| 1,000,000 1,000,000 0
< 840,000 840,000 0
Al 3,315,000 1,315,000 2,000,000
SHS BFSSAZHUE AY(FHX FIEF) 4,515,000 2,515,000 2,000,000
2 1,200,000 1,200,000 0
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oHMotA HItRIA ¢ 100,000& * 10 1,000 0 1,000
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